
1.Real numbers 
( Key Points ) 

1. Euclid’s Division  mma:‐ Given Positive integers a and b there exist unique integers q and r 
satisfying 

le

a=bq +r, where 0൑r<b, where a, b, q and r are respectively called as dividend, divisor, quotient and 
remainder. 
 

2. Euclid’s division Algorithm:‐ To obtain the HCF of two positive integers say c and d, with c>0, follow 
the steps below: 
 
Step I: Apply Euclid’s division lemma, to c d whole numbers, q and r such that c =dq 
+r, 0൑ ݎ ൏ ݀.    and d, so we fin

Step II: If r=0, d is the HCF of c and d. If r ് Ͳ,  .division lemma to d and r ݄݁ݐ ݕ݈݌݌ܽ
Step III: Continue the process till the remainder is zero. The divisor at this stage will be the required 
HCF 
 
 

3. The Fundamental theorem of Arithmetic:‐ 
Ever d  ( factorised ) as a product of primes, and this 
fact i der in which the prime factors occur.  

y composite number can be expresse
orizat on is unique, apart from the or

  Ex.: ʹͶ ൌ ʹ ܺ ʹ ܺ ʹ ܺ ͵ ൌ ͵ ܺ ʹ ܺ ʹ ܺ ʹ 
   

Theorem: LET ݔ be a r umber whose decimal expansion terminates. Then ݔ can be 
expressed in the form     

ational n

     Of  
௣௤ where ݍ ݀݊ܽ ݌ are co‐prime and the prime factorisation of q is the form of ʹ௡. ͷ௠, 

whe e m   a  negative integers. r  n,    re non

Ex. 
଻ଵ଴ ൌ  ଻ଶ  ହ ௑ ൌ Ͳ.͹ 

 
Theorem: LET ݔ=௣௤ be a rational number such that the prime factorisation of q is not of the form of ʹ௡. ͷ௠,   where m ar ntegers. Then ݔ has a decimal expansion which is non 
terminating  repeating 

 n,  e non negative i
(recurring).  

     Ex. 
଻଺ ൌ  ଻ଶ ௑ ଷ ൌ ͳ.ͳ͸͸͸ … … .. 

 
Theorem: For any two positive integers a and b, 
       HCF (a,b) X LCM (a,b)=a X b 

         Ex.: 4 & 6;  HCF (4,6) = 2,  LCM (4,6) = 12; HCF X LCM = 2 X 12 =24 
  Ans.      : a X b = 24 

 
( Level‐ 1) 

 
1.   If 

௣௤ is a rational number ሺ ݍ ് Ͳሻ. What is the condition on q so that the decimal representation of ௣௤ is terminating?  

An  of ʹ௡. ͷ௠ ݁ݎ݄݁ݓ ݊,  .s  .ݏݎ݁݃݁ݐ݊݅ ݁ݒ݅ݐܽ݃݁݊ ݊݋݊ ݁ݎܽ ݉ q is form

2.  Write a rational number between √ʹ    ܽ݊݀ √͵. 
Ans. 

3.  The decimal expansion of the rational no. 
ସଷଶర .ହయ

1.5 
   ?ݏ݈ܽ݉݅ܿ݁݀ ݂݋ ݕ݊ܽ݉ ݓ݋݄ ݎ݁ݐ݂ܽ ݁ݐܽ݊݅݉ݎ݁ݐ ݈݈݅ݓ 

Ans.  After 4 places of decimal. 
 
4.  Find the ሺ ܯܥܮ ܺ ܨܥܪ ሻ݂ݏݎܾ݁݉ݑ݊ ݄݁ݐ ݎ݋ ͳͲͲ ܽ݊݀ ͳͻͲ. 
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Ans.  19000 
 
5.  State whether the number ሺ√ʹ െ √͵)(√ʹ + √͵ሻ ݅ݏ rational or irrational justify. 

Ans.  Rational 
 
6.  Write one rational and one irrational number lying between 0.25 and 0.32. 

Ans.  One rational no. =0.26, one irrational no. = 0.27010010001……… 
 
7.  Express 107 in the form of 4q + 3 for some positive integer. 

Ans.  4 X 26 + 3 
 

8.  Write whether the rational number 
ହଵଵହ଴଴  will have a terminating decimal expansion or a non 

terminating repeating decimal expansion. 
Ans.  Terminating. 

 
 

( level ‐ 2 ) 
 

1.  Use Euclid’s division algorithm to find the HCF of 1288 and 575. 
Ans.  23. 

 
2.  Check whether ͷ ܺ ͵ ܺ ͳͳ ൅ ͳͳ ܽ݊݀ ͷ ܺ ͹ ൅ ͹ ܺ ͵ ൅ ͵ are composite number and justify. 

Ans.  Composite number. 
 
3.  Check whether ͸௡can end with the digit 0, where n is any natural number. 

Ans.  No, ͸௡can not end with the digit 0. 
 
4.  Given that LCM (26, 169) = 338, write HCF (26, 169 ).] 

Ans.  13 
 
5.  Find the HCF and LCM of 6, 72 and 120 using the prime factorization method. 

Ans.  HCF  = 6 
  LCM = 360 

 
( level ‐ 3 ) 

 
1.  Show that √͵ is an 

2.  Show that ͷ ൅ ͵√ʹirrational number. 

 is an irrational number. 

3.  Show that square of an odd positive integer is of    1the form 8m +  , for some integer m. 

4.  Find the LCM & HCF of 26 and 91 and verify that ܨܥܪ ܺ ܯܥܮ ൌ  .ݏݎܾ݁݉ݑ݊ ݋ݓݐ ݄݁ݐ ݂݋ ݐܿݑ݀݋ݎ݌
Ans.  LCM=182, HCF=13 

 
(PROBLEMS FOR SELF EVALUATION/HOTS) 

 
1. State the fundamental theorem of Arithmetic. 

2. Express 2658 as a product of its prime factors. 

3. Show that the square of an odd positive integers is of the form 8m + 1 for some whole number m. 

4. Find the LCM and HCF of 17, 23 and 29. 
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5. Prove that √ʹ is not a rational number. 

6. Find  the  largest positive  integer  that will divide 122, 150 and 115  leaving  remainder 5, 7 and 11 

respectively. 

7. Show that there is no positive integer n for which √݊ െ ͳ + √݊ ൅ ͳ ݈݅ܽ݊݋݅ݐܽݎ ݏ. 
8. Using  prime  factorization  method,  find  the  HCF  and  LCM  of  72,  126  and  168.  Also  show  that ܯܥܮ ܺ ܨܥܪ ്  .ݏݎܾ݁݉ݑ݊ ݁݁ݎ݄ݐ ݄݁ݐ ݂݋ ݐܿݑ݀݋ݎ݌

 

 
 
 

 
2. Polynomials 
( Key Points ) 

 
Polynomial: 
 
An expression of the form ݌ሺݔሻ ൌa0 + a1x + a2x

2 + ‐‐‐‐‐ + anx
n where an ് Ͳ is called a polynomial in variable 

x of de e real numbers and each power of x is a non negative integer. gree n. where; a0 ,a1, ‐‐‐‐‐ an ar
x
2 
– 5x + 1 is a polynomial of de

Note: √ݔEx.:‐ 2 gree 2. ൅  .݈ܽ݅݉݋݊ݕ݈݋݌ ܽ ݐ݋݊ ݏ݅ ͵ 
• A polynomial  x etc 

  ሻݔሺ݌ ൌ ݔܽ ൅ Ex. 5x ‐3, 2 .݈ܽ݅݉݋݊ݕ݈݋݌ ݎ݈ܽ݁݊݅ ܽ ݈݈݀݁ܽܿ ݏ݅ ͳ ݁݁ݎ݃݁݀ ݂݋ ܾ
• A polynomial  ݁݁ݎ݃݁݀   2x2 + x – 

1, 1  + 2

ሻݔሺ݌ ൌ ଶݔܽ ൅ ݔܾ ൅ ݂݋ ܿ .Ex.݈ܽ݅݉݋݊ݕ݈݋݌ ܿ݅ݐܽݎ݀ܽݑݍ ܽ ݈݈݀݁ܽܿ ݏ݅ ʹ 
• A p m ଷ ଶݔ ൅ ݔܿ ൅ 5x –   .݈ܽ݅݉݋݊ݕ݈݋݌ ܾܿ݅ݑܿ ܽ ݈݈݀݁ܽܿ ݏ݅ ͵ ݁݁ݎ݃݁݀ ݂݋ ݀  x  etc. 

olyno ial ݌ሺݔሻ ൌ ݔܽ ൅  ܾ
Ex. √͵ݔଷ െ ݔ  ൅  √ͷ, ଷݔ െ  ͳ etc. 

 
Zeroes of a polynomial: A real number k is called a zero of polynomial ݌ሺݔሻ݂݅ ݌ሺݔሻ ൌ Ͳ. The graph of ݕ ൌ  .ሻ intersects the X‐ axisݔሺ݌

• A linear polynomial has only one zero. 
• A Quadratic polynomial has two zeroes. 
• A Cubic polynomial has three zeroes. 

 
For a quadratic polynomial: If α, β are zeroes of ܲ ሺݔሻ = ܽݔଶ ൅ ݔܾ  ൅ ܿ then : 

 

1. Sum of zeroes = α +β = 
ି௕௔     

ି஼௢௖௢=
௘௙௙௜௖௜௘௡௧ ௢௙ ௫௘௙௙௜௖௜௘௡௧ ௢௙ ௫మ  

2. Product of zeroes = α . β = 
௖௔

  

  = 
஼௢௡௦௧௔௡௧ ௧௘௥௠௖௢௘௙௙௜௖௜௘௡௧ ௢௙ ௫మ   

 
• A d n by:  qua r tic

݌  a  polynomial whose zeroes are α and β, is give
 (α + β)ݔ ൅  ߚߙ 

       ݔሻݏ݁݋ݎ݁ݖ  ൅ ሻݔሺ ݂݋ ݐܿݑ݀݋ݎ݌ ൌ –ଶݔ 
ଶݔ =          .ݏ݁݋ݎ݁ݖ 

• If ߙ, ݊ܽ ߚ f the cubic polynomial ܽݔଷ ൅ ଶݔܾ ൅ ݔܿ ൅ ݀ then: 
െ  ሺߛ ݂݀݋ ݉ݑݏ are zeroes o

*  ௔ߙ ൅ ߚ ൅ ൌ ߛ ି௕
 

*  ߙߛ ൌ  ௖௔ߚߙ ൅ ߛߚ ൅  

ߛߚߙ * ൌ ିௗ௔  

Division algorithm for polynomials: If ݌ሺݔሻܽ݊݀ ݃ሺݔሻܽ݁ݎ ܽ݊ ݄ ݃ሺݔሻ ് Ͳ, then we   ݐ݅ݓ ݏ݈ܽ݅݉݋݊ݕ݈݋݌ ݋ݓݐ ݕ
  can find polynomials ݍሺݔሻܽ݊݀ ݄ܿݑݏሻݔሺݎ  :ݐ݄ܽݐ
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